N = 0l & At & Ml A

AN AHE =X
M MYBHEY
Sl YT U ANZALY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
At =X 30,005,036 16,816,213 13,188,823
= 12,373,431
s 624,400
< 4,858,859
Al 12,148,346
MEEELd 14,112,812 2,885,990 11,226,822
= 8,259,404
= 624,400
< 1,990,546
Al 3,238,462
2 L AMEAME 13,007,912 1,826,070 11,181,842
= 8,201,138
s 624,400
< 1,862,878
Al 2,319,496
AT AA 46,694 55,104 A8,410
101 @14l 41,694 52,104 210,410
04 JIZtHZ22HEE = 41,694 52,104 A 10,410
Ok XN&E= HH s w"X&el UdFY
138,980& 10 30 41,694
203 YR =2t 3,000 3,000 0
03 Al =AY R =& 3,000 3,000 0
O&E AR AR FAH| 3,000
206 M= Hl 2,000 0 2,000
01 M= 4l 2,000 0 2,000
ONMAL(HHEH, FF S)
200,000& 10K 2,000
LA (MEAHE)(XAXMA2)(EX)(HE)(HEA 642,907 642,204 703
o)
< 450,036
Al 192,871
101 @14 dl 13,952 17,660 N 3,708
< 9,767
Al 4,185
4 JI2ZtHZ22HEE = 13,952 17,660 A 3,708
AT 2| A (2Y) 13,952
< 9,767
Al 4,185
401 AIEHIZL 20HEI 628,955 624,544 4,411
< 440,269
Al 188,686
01 A& HI 624,604 620,080 4,524
O AH(ZF LT 1.5km)
202,500,000& *99.28% 201,042
< 141,750
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Al 59,292
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Al 98,088
O T2 2 (17km) 76,500, 000& %99.37% 76,019
< 53,550
Al 22,469
O S ALE & AIHI(1.5km) 14,955
< 10,469
Al 4,486
03 A& =2 THHI 4,351 4,464 A113
O (HHLE 1.5km)
202,500,000 *0.72% 1,458
O & E 12 (5km) 335,000,000& *0.72% 2,412
O & 22 (17km) 481
A AL 100,000 120,000 220,000
401 Al Bl 2B 100,000 120,000 A 20,000
01 A& HI 99,100 119,136 A 20,036
OMEA THolRASs HA
250,000& *400==+99. 10% 99,100
03 Al S THHI 900 864 36
OMeA o= HMA 20l
250,000& 4003 x0.90% 900
A A (Al 2R E2) 312,539 286,110 26,429
308 XX EHHSOIA 312,539 286,110 26,429
07 IXNHHARE = 312,539 286,110 26,429
OAMEANY EtEdEI NIZRES 2,062
OAMEH EtEd "It AZ2RE=s 1,411
OAZAIE A2EE ANZRES 1,129
OAMEZHE BLEA ANZRES 1,467
OARIALE AIZ2RE S 36,450
OHFR2EHAMNE ANZRES 69,752
OMEE ANZRES 90,000
OdtgxAae AIZ2RY3 101,790
OAmgtge|(F4) ANZ22E3 5,040
OMYAIE AMEX ANZRES 3,438
AR THHL Xtel SO (MAFEH S F Ol M EH) (2 ) 54,387 53,652 735
2 21,755
< 22,842
Al 9,790
101 1A dl 42,687 41,952 735
= 17,075
< 17,928
Al 7,684
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Al 1,373,964
03 Al 2 THHI 16,038 0 16,038
Ot s2Ilal S (M H) 16,038
e SO0 SN (ot ) 4,543,796 0 4,543,796
= 4,543,796
401 AIEHI L 2 CHYI 4,543,796 0 4,543,796
= 4,543,796
01 A& HI 4,531,528 0 4,531,528
Oo&td s=Iloll =+ 4,543,796,000%99.73% 4,531,528
= 4,531,528
03 AlE 2 THHI 12,268 0 12,268
O4td s=Ilol =27 12,268
= 12,268
ATl 2te] 136,788 112,713 24,075
= 26,580
< 3,081
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AETIHERL(EX) 4,158 8,183 N4,025
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Al 1,247
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2N
X ZH -
L= B

el

[z iz

Y=
YeATY
EE NPT

= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
LAEFAANEES 968,112 947,207 20,905
= 31,686
< 124,587
Al 811,839
=2 rdael 640,000 590,000 50,000
401 AlEHIZ 20 8] 640,000 590,000 50,000
01 A€ dl 636,796 586,580 50,216
Oosttz 24+ & |Xl2c
100,000,000 *99. 10% 99,100
Olels S&Z FHIAY
320,000,000& x99 28% 317,696
OFQUF 0 off & 220,000
2L HicHs G SA 70,000
Aelat duaxtsd SSa At 150,000
03 AlE 2 THHI 3,204 3,420 A216
Os&z 2+ & |2 FUHI
100,000, 000& *0.90% 900
Olecls S4&Z FHIAY 204
320,000,000& *0.72% 2,304
sZXgAe () (BEXR)(HE)(HEAY) 200,000 200,000 0
S 100,000
Al 100,000
401 AIZHIZ S CHHI 200,000 200,000 0
S 100,000
Al 100,000
01 Al € HI 198,560 198,560 0
O=Z g2l (4km) 50,000,000 x4km*99. 28% 198,560
S 99,280
Al 99,280
03 Al& 2 i1 1,440 1,440 0
O=Zxd2tel(4km) SO
50,000,000 *4km=0. 72% 1,440
S 720
Al 720
sy 2el 21,139 21,751 A612
101 1248l 21,139 21,751 A612
04 D12 RZ22 TS 2=+ 21,139 21,751 A612
OXgs2y 22 Ud2Y 21,139
e 69,7603 x 12 %229 15,976
rEsdsd 69,7603 x1H x59 4,116
5224 69,760& «1.5%1& «10 1,047
AEMEIAER0 2EXE(EX) 63,373 62,496 877
= 31,686
= 9,507
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10,312
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7,219

60,996
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206 M= Hl

=z N W
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500
165
835

1,500

= MW

= MW
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250
90
160

500
500

250
75
175

1,500

= M
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10,080
23,520

32,960
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= M
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23,520

32,960

640

04 It Z22XSE+
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=oi&ot(1g
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16,800

5,040
11,760
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5,000
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SN MESXD
M MYBHEY
Sl MEBYANLHS (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 10,000 0 10,000
< 5,000
Al 5,000
01 A& HI 9,892 0 9,892
OIS Z3XeE B2 10,000,000 x98.92% 9,892
< 4,946
Al 4,946
03 Al S THHI 108 0 108
Ot 3 ReE B2 10,000,000 *1.08% 108
< 54
Al 54
SMEES 2,699,980 2,464,624 235,356
= 712,257
< 368,138
Al 1,619,585
At= 2 XICH 2 2,256,953 2,073,450 183,503
= 500,641
< 328,714
Al 1,427,598
A2 X CH 24 31,800 31,800 0
201 Let24d] 31,800 31,800 0
01 At 22/l 8,000 8,000 0
OUMERAZAIIHH(REA) NIEEX X2
500,000 =104 2 500
OO0 EEXNE ME(53)
1,500,000& 58 7,500
02 =24l 23,800 23,800 0
Odts2d st (i) *FUH3 11,000
OMEXSII2(6MH) AHSAHEE It 1,800
Ot stxt(6) =& Rl 3,000
OULZEASANE HIIRS 8,000
SrELXUHE(ZHEX) 969,915 1,077,256 A 107,341
= 104,033
Al 865,882
101 14l 861,190 980,431 A 119,241
< 103,343
Al 757,847
04 JI12ZtHZ22HEE =+ 861,190 980,431 A 119,241
OL2ZAIA 2122 (65Y) 804,024
< 96,483
Al 707,541
OK=ZANd 28 =(659) 57,166
< 6,860
Al 50,306
201 L2l 3,450 3,450 0
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S MAS R (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 3,400
< 1,530
Al 3,570
At THO 2 Rtel SHI(MEXMHLESH)(BX) 785,981 774,337 11,644
= 314,527
< 140,929
Al 330,525
101 @14 dl 762,374 728,750 33,624
= 305,084
< 136,680
Al 320,610
03 RIAHAZZRAE S 34,531 30,258 4,273
OK=g222 2 (SR A& 1Y) 34,531
2= 1,767,600 x12J04 & 21,212
- 8,484
< 3,818
Al 8,910
dz24 353,520& x23| 708
= 283
< 127
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g Mz AH| 130,000 124 & 1,560
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< 280
Al 656
tHera sl 40,000 x121 & 480
= 192
< 86
Al 202
2EANHS 1,060,560& *23| 2,122
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SR (ME2R) 114,624 10 1,147
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O &b 76,4163 10 765
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S 137
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A2tel =g 14,3283 x15A1 2t 1201 & 2,580
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Al 1,084
28z 3,957
= 1,586
= 7
Al 1,654
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Cel Mo s 2t (9 ® =)
SN EB S (3H) - NBAY - B2 ofl &t o ﬁlf& HD=2
=] 260
Al 589
Oe|LtPAEd XlIAEHH (20ha) 1,839
= 920
o= 276
Al 643
OZAMLINO0IE L& M A (1ha) 249
= 125
== 37
Al 87
OZMUINOI0IE Kl AHEEAI(19ha) 1,625
= 858
o= 230
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OZ0H0l Xl AH2EAN(10ha) 907
= 495
== 123
Al 289
On=2da4< gy 2rHl(15ha) 1,380
= 720
o= 197
Al 463
OJIEtoll = 2 Xl (20ha) 1,840
= 999
< 258
Al 583
206 M = Hl 9,572 9,455 117
= 5,015
= 1,360
Al 3,197
01 X2 H| 9,572 9,455 117
OEELig XIASH 2AH 72 1,733
= 898
o= 246
Al 589
Ol XASH <M 1,839
= 998
= 257
Al 584
OZMLINNOIE XIALH 2H 7L 1,873
= 982
o= 267
Al 624
OZ0H0] XI&SH 22X 908
= 495
== 124
Al 289
Oll=2dFE M 2HP2Y 1,379
= 720
o= 198
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< 36,000
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